qEUC FATE ?

=R, TR U AR =TT A s s (algebric expression) sgue wEem ¢ |
SR - X2, 2X%3, 3y, 2X + 5, ax? + bx, 2x2 - 7X + 3 3 3x® + 4X - 5X + 9 zf< |
T sgue (Polynomials) =t p(x) & gfed & 2 |

S - p(X) = 2x2 + 3X + 5 srerar p(X) = 3X s |

YTER A B E -

(i) = disfier sicter oo T o g er - S8 - 1, -2, -4 ar - 5 genfe | 3x2 + 5%, y2 -y,
BX* geaTte 317 et § |

(i) e ug = foreft = & forenforer 2 Sy —

2
r+1

ERUIE

1
;IT r

(iii) =% sfsfrar =ivwen foreren = g e e (fractional number) 2 4t o sgus 78 g
HECE

X =Xx2
5 1
X=Xx3
) 1
X =X4
; 1
X =X5



37UT 5 osfeh # =X TQ 1T aTel 81 Y 98 SgUC, o6l hgollcll & |

9g % 1gEr @gug (Polynomials) % wer
(1) vt sigee (Mononomials) : s foret st & haet Te & U 2 df 30 Thudt Jgue e ¢ |
s - 3X, 3x?, 5xyz, 10ab, 2bc, 4x4y?, 10 i 3y @i |

(i) fewedt srgae (Binomials) : ster foreft sfisfrrsdstar & a1 ag (+) @1 (<) & fodi & 92 & o o faodh
SETE FE |

S - 3X+5,4x -7y, 3x2+ 5, 7y + 6X, 9X + Yy s(< |

(i) Prct sgae (Trinomials) : st fereft sfisita =ieeh & 9 0g (+) a1 () & IS & a1 98 Broet sgue
FHEATT 2 |

S -2X+ 3y +4,4y? + 3y - 7, 3x3 + 2X2 + 7X 3R 2x2 + 3X - 5 z@fe |
wrgus <t ura (The power of polynomials) :

foeft srgaa p(X) & Stfershaw =Tq 1 IgUe i =19 Fed © | 59—

() p(x) =3x + 3dsgreHraml?|

(i) p(x) =4x2+ 3x + S dsgwe it o 2 ¢ |

(i) p(x) =3x*+ 2X - 7T Hogue =@ 3 2 |

(V) p(X) =7x*+5x*+ X -8 dsgre Hr aa 4 2 |

(V) p(x) = 10 & sgue i =ma 0 & Fiife = ve 72 2 |

wer-fag SR T



1. IRxTS W &, n TP UHd I & IR a,, a,, @y, G, «......... a, TEAD
&M §, dpx)=a x+a_ »@'+.... +a,x+a,(a,#0)WxH TH qgI8
FHEATT 2 |
1,2 T3 UIG1$ a1l 9gu< HHe: s, fara v e ague s 21

3. UF GUd @I al+bx+c® WY T WG TGS &1 & Wdid a, b T e
IrAdd HE & dATa #0.

4. TP T YIS 99 695 & x - Fwie € 9 W y=pk) 1 Iod

(GRAPH) x-31&7 &1 9fa<oe &val g | 30id x=a, 98U< p(x) FT IS &1

T2 p(a) =0

98U B AfHad UP Sa4 & Wd & ol 9gue o Ui § |

6. (i) IE TEUS p(x) BT T YID AR BT Iy Uladd 8 T x BT IO =0
(i) I IR p() T YIS TH—gHR & OH Faad & a1, 2 F T

=3°R TS

7. 9gUe @ IEADI AR OTIHI H AdU—

IS o, p 28T IR el +bx +c(a#0) S LIS &I,
atp= WWW—-E

a

h

op = IH Bl qvwm=§
8. IR o, Bl fFU™ 95U & Y& @1, a1 98U
p(x) =k [x*— (SIHT &1 II) x + DT BT O]

el k@IS ardide Gl & ool k #0 \
9. 9P TEUE p(x)=ax +b T JoiT T WXl T Bl & |

10. fauoF TIReA—{FHE] 21 9gUs] p(x) T2 g(x) & o0 3= =7 980U q(x)
T r(x) BT IR 3H THR &

p(x) = 9(x). a(x) + r(x) ;

srateR g(X) # 0 e r(x) = 0 & =maies r(X) < =marew g(X)



